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APPLICATION AND PRACTICE OF CIRCULATING
FLUIDIZED BED BOILER DESULPHURIZATION AND DUST

REMOVAL TECHNOLOGY
CHEN Ming-hua, NIE jing-hui, SUN Qin=Qin
(Zaozhuang Mining (Group) Limited liability company)

Abstract: This article has conducted applied research on circulating fluidized bed boiler
limestone injection the calcium + furnace_ semidry desulfurization and three electric field of
high voltage electrostatic + blowback bag-type dust removal technology.Explore a practical
way for reducing pollutant emissions. andwimproving the ecological environment of mining
areas.
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